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Section A: Basic English (20 Questions)

1. Choose the correct sentence:
a) She can sings very well.
b) She can sing very well.
c) She can to sing very well.
d) She can sang very well.

2. Choose the correct option to complete the sentence: 'He is always
the elders.’
a) Respect
b) Respectful
c) Respecting
d) Respects

3. What is the antonym of 'scarce’'?
a) Limited
b) Abundant
c) Rare
d) Deficient

4. Choose the correct option: 'The news not true.’
a)ls
b) Are
c) Was
d) Were

to



10.

Which is the passive voice of 'They build the house'?
a) The house is built by them.

b) The house is being built by them.

c) The house was built by them.

d) The house built by them.

Which of the following is a compound sentence?
a) | want to eat ice cream.

b) She likes to read books and he loves to play chess.
c¢) The dog barks.

d) The sun rises in the east.

Choose the correct preposition: 'The cat jumped the table.'
a) On

b) In

c) Under

d) Over

What is the correct indirect speech of: 'He said, "l am tired.™
a) He said that | am tired.

b) He said that he was tired.

c) He says that he is tired.

d) He says that | am tired.

What is the noun in the sentence: 'She enjoys reading books'?
a) Enjoys

b) Reading

c) Books

d) She

Which of the following is an example of a complex sentence?
a) She likes tea, and he prefers coffee.

b) When I finish my work, | will call you.

c) | went to the market.

d) The sun is shining brightly.
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12.

13.

14.

15.

16.

Fill in the blank: 'l to the gym every day.’
a) Goes

b) Going

c) Go

d) Gone

Which of the following is a synonym for 'beautiful'?
a) Ugly

b) Attractive

c) Annoying

d) Boring

Which of the following is the correct question form: 'You are coming to the party'?
a) You are coming to the party?

b) Are you coming to the party?

c) Coming to the party you are?

d) Party you are coming to?

Choose the correct verb: 'The children playing outside.'
a) Are

b) Is

c) Was

d) Be

What is the comparative form of 'good'?
a) Gooder

b) Best

c) Better

d) More good

Fill in the blank: 'She is student in the class.’
a)A

b) An

c) The

d) None



17. Which of the following is the correct plural form of 'mouse'?
a) Mouses
b) Mouse
c) Mice
d) Mices

18. Which of the following sentences is in the present perfect tense?
a) | will go to the store.
b) I am going to the store.
c) | have gone to the store.
d) | go to the store.

19. Identify the subject in the sentence: 'The teacher gave a lesson on history.'
a) Teacher
b) Gave
c) History
d) Lesson

20. What is the correct form of the verb in the sentence: 'l him yesterday.’
a) Meet
b) Meets
c) Met
d) Meeting

Section A: Basic Computers (10 Questions)

1. Which of the following is a storage device?
a) CPU
b) RAM
c¢) Hard Disk
d) Monitor



. What does '"HTML' stand for?

a) Hyper Text Markup Language

b) High Textual Memory Language
c) Hyper Transfer Markup Language
d) None of the above

. Which of the following is a type of software?
a) CPU

b) Keyboard

c) Operating System

d) Monitor

. Which device is used to input data into a computer?
a) Printer

b) Monitor

c) Keyboard

d) Speaker

. What is the full form of 'RAM'?

a) Read Access Memory

b) Random Access Memory
c) Readable Access Memory
d) None of the above

. Which of the following is not an operating system?
a) Windows

b) Linux

c) Adobe Photoshop

d) MacOS

. What is the main function of an operating system?
a) To store files

b) To manage hardware and software

c) To provide internet access

d) To create documents



8. Which of the following is the correct form of storage for the operating system?

a) RAM

b) ROM

c) Hard Drive
d) Cache

Which of the following is an example of an input device?
a) Mouse

b) Monitor

c) Printer

d) Speaker

10. Which of the following is a common programming language?

a) Microsoft Word
b) Java

c) Adobe Acrobat
d) Photoshop

Section A: Quantitative Aptitude (10 Questions)

1.

2.

What is 15% of 200?
a) 30
b) 20
c) 35
d) 25

A train travels 120 km in 2 hours. What is its speed?
a) 60 km/h

b) 120 km/h

c) 100 km/h

d) 80 km/h



. What is the value of 25 x 4?

a) 100
b) 90
c) 120
d) 110

If 3x + 4 =10, what is the value of x?
a)2

O T

)

) 1
)3
)4

o

. What is the perimeter of a rectangle with length 8 cm and width 5 cm?

a) 26 cm
b) 24 cm
c) 18 cm
d) 22 cm

. The sum of the angles of a triangle is always:

a) 90°
b) 180°
c) 270°
d) 360°

. What is the square root of 144?

a)12
b) 14
c) 10
d) 16

If a shop sells 3 shirts for Rs. 300, what is the cost of 7 shirts?
a)Rs. 700

b) Rs. 900

c) Rs. 1000

d) Rs. 600



9. The area of a circle with radius 7 cm is: (Use 1 = 22/7)
a) 154 cm?
b) 49 cm?
c) 154 cm?®
d) 44 cm?

10. If the perimeter of a square is 36 cm, what is the length of each side?

General Knowledge (10 Questions)

1. Who is known as the 'Father of the Nation' in India?
a) Jawaharlal Nehru
b) Subhas Chandra Bose
¢) Mahatma Gandhi
d) Sardar Vallabhbhai Patel

2. Which country is known as the ‘Land of the Rising Sun'?
a) China
b) Japan
c) South Korea
d) Thailand

3. Who invented the light bulb?
a) Nikola Tesla
b) Thomas Edison
c) Alexander Graham Bell
d) James Watt



. Which country is the largest producer of coffee in the world?
a) Colombia

b) Brazil

c) Vietnam

d) India

. Which planet is known as the 'Red Planet'?
a) Venus

b) Mars

c¢) Jupiter

d) Saturn

. What is the capital of Australia?

a) Sydney

b) Melbourne
c) Canberra
d) Perth

. Which is the tallest mountain in the world?

a) K2

b) Mount Everest
¢) Kangchenjunga
d) Lhotse

. Who is the author of 'Harry Potter' series?

a) J.R.R. Tolkien

b) George R.R. Martin
c) J.K. Rowling

d) Suzanne Collins

The process by which green plants prepare their food is called:
a) Respiration

b) Germination

c) Photosynthesis

d) Transpiration



10. Which of the following is the smallest country in the world by area?
a) Monaco
b) Vatican City
c) San Marino
d) Liechtenstein



